i :

S+ 6+ 5

S PP s

i

i
3 H ﬂ!«l},
S’
)
™R

F

A0
/50
5

A T S R A

2
1
1
Y
A5

X =
X =
B
A0
5
v
v’

- 2046
(}ﬁﬁ‘

M

42

2

4

v’

. [B1E

e <0
)

(E-4) = [
-0

1

AKX
=T Kaw QOVE

=

=ox, =40 X

A6 Xe “Zz’,{ X2 =795 =» Xz
88 x;, =02y —O03Xy=638



| ) \;(Q*LEfﬁ)‘x(Q

T

Cﬁyos «C» A0, 9¢/

09 02 '52' [A00-+ mgj
'005 C?J 04 60-1*-

/30 -0,9¢ - 4’2+C@9£ 45 . |
=]-5 +c:> 05+ +54 ~4 8t -5 |
-5 too5E-6 +C§M2.t +42 J«
f (63 -0,5¢ | X
= | 44 mn?st X
37 +025¢ | X

S
. 63-05+>20 == MmE3t X
C4Y 475 2o =n 4% at V(

Cas) L TRE0TE20 4y o5
4 ¥ez2ou

‘‘‘‘‘‘

/3?6 '

‘S(%’)“ Yo PY2tyy = '2.£ 144 Vx

=telog w -

7/2:/‘&5(14 Gerade =o ma)«:u«wf%r =0 *f

5(0) %%qtf



{ﬂvr q—-ﬁ : 9a ﬁamf/c( 2ur x, ~Adise VL

 (ecwd] . .(
fw* {L#C} 30, /ocz««n?ffﬂf 2uUr X; X’a”EéfMﬁ«y“%

fjkf @) (4, Hz)wf
ol Fr A J=] 4145 ] O
(4 (¢ / e/ (w'f

(T)A+ar = A+25

@i’{ ro=A4 = A A
ar 4 = -5 B L Y ¢
W@ Araca-2
a=-2 o
-2 /-4
=0 fu‘f Q”Z {X jp{?/ﬁ /75(»’4 "‘t
A

i A A ( ”Ks , \i 2 ]@ P U < ZX’; XA
O X3~ A v {\ o C 2X3~2~%2~X&“?&f

Y
LW,

b,

{

A



h fVLE (A28 +z A+Os)+2(0 s.;) 3 é{
AT -2 -~3=-=o A
o =v I ,&gg+ m E A4

VAN \3:. 7
»\. /

w ~

L
Cmd
™)
O\
3
iy
‘ 4
&
<
o
™~
L
LI N

TP Cwm B A

= witABEE %ak ﬁmlk/cgmwz aE}
| B




